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BE 7K = (Displacement) 4650 TON 2 £ (Length Overall) 19. 8 m

= f (Length Overall) 151.0m & 18 (Breadth) 16. 4 m

= K 18 (Breadth) 17.4m = & (Height) 5 4m

i* & (Depth) 10. 8 m ) = (Weight) 10, 81t

B2 JK (Draft) 5. 2m I > ¥ 2 (Engine)

* B (Main Engine) HRA—E >(Gas Turbine) X 25
HRAB—E >(Gas turbine) X 4% R 71 (Speed)

& 5 71 (Shaft power) 60000 F71(SHP) 139/ vk (#1270Km/h)

¥ 71 (Speed) 30/vyk($955Km/h) fin%tiEmE (Distance)

% B # (Complement) #1984 #750km (RR~ KBREZEE TEHIER)
# & P (Ship yard) B REIKKHEEEMIS E B ¥ (Complement) 3%&(®ZK124)
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